
k|fylds
tf qmd

cfof]hgfsf] gfd
cfof]hgf 

;~rfng x'g] 
:yfg 

ljlgof]lht ah]^ ? hDdf 

1 j*f g+= 3 sf] l;dfgf b]lv s'doflx;Ddsf] s[lif k}}gL dd{t ;Def/ 250,000
2 pGgt hftsf] afv|f ljt/)f 100000
3 u|fld)f ko{^g k|j${gsf nflu tflnd tyf cjnf]sg 150000

500,000.00

1 lzIff tkm{ 500000
2 ;+:s[lt k|a${g 100000

3 lszf]/Lx?nfO{ l;nfO{ s^fO{ tflnd 170000

4 ckf~ JolQmx?sf nflu cfjZos ;fdfu|L ;xof]u 40000

5 Ho]i& gful/s ;Ddfg sfo{qmd 50000

6 dlxnfx?sf nflu cf~ v:g] ;d:ofsf] pkrf/ lzlj/ 100000

7 o'jf tyf v]ns'b ljsf; 40000

1,000,000

1
ugL xflhsf] #/b]lv klZrd df]hfdsf] #/ x'b} k|efs/ ^f]n hf]*\g] 
af^f] df^f] k'/L u|fe]n

1600000

2 ggsf/ ^f]nsf] dx]Gb| ofbjsf] #/b]lv k"j{sf] ;*s df^f] k'/L u|fe]n 400000

3
sbd ^f]nsf] af]*{/ b]lv hdfnsf] #/;Dd, cnkmnf klAns :s"n 
b]lv k"j{sf] af^f] / wlgnfn d]xtfsf] #/b]lv k"j{ af]*{/;Ddsf] 
af^f]df df^f] k'/L u|fe]n

500000

4 k|efs/ d';x/L ^f]ndf k|ltIffnt 150000

5 j*fsf] ;*sdf ;*s alQ 200000

6 nj^f]lnofdf k|ltIffno 150000

3000000

1 ljkb Joj:yfkg, k"j{ tof/L,;r]tgf tyf ;xof]u 160000

2 kf]i^ cf] l* PKfm ;DaGwL sfo{qmd 40000

3 Ps #/ Ps ?v sfo{qmd 50000

250000

1 ;+:Yffut ljsf;sf nflu ;xof]u tyf sfo{qmd 50000
2 ;fj{hlgs ;'g'jfO{ 30000
3 kbflwsf/L tyf sd{rf/Lsf] Ifdtf ljsf; sfo{qmd 75000
4 j*f sfof{no k"lhut Joj:Yffkg 95000

250000

500000

hDdf

j8f g+= %

cfly{s ljsf; 

hDdf

;fdflhs ljsf; 

hDdf

k'jf{wf/ ljsf; 

jg,jftfj/)f tyf ljkb Joj:yfkg

hDdf

;"zf;g tyf ;+:Yffut ljsf; 

hDdf

hDdf


